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Who is the Chairman of the Defence Planning
Committee set up in April 20187

a) The Prime Minister

b) The National Security Adviser

c) The Defence Minister

d)  The Chief of the Army Staff

Learn services academy
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* Which one of the following is the correct ascending
sequence of states in terms of their population density

as per Census 20117
a) Arunachal pradesh — Sikkim — Mizoram — Himachal

pradesh
___bFArunachal pradesh — Mizoram — Sikkim — Himachal
pradesh
c) Mizoram — Arunachal pradesh — Himachal pradesh —
Sikkim

d) Arunachal pradesh — Himachal pradesh — Sikkim —
Mizoram



* The rate of population growth during 2001-2011
decade declined over the previous decade 1991-
2001 in all of the following states, except™

a) Tamil Nadu -
/b% Kerala

c) Goa

d) Andhra Pradesh
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* \Which one of the following Is the correct ascending
sequence of states with regard to percentage of
urban population 20117 -

a) Tamil Nadu — Mizoram — Goa — Maharashtra
b) Goa- Mizoram — Maharashtra — Kerala

_e¥ Maharashtra — Kerala— Mizoram —an}

d) Mizoram — Goa — Maharashtra — Kerala




* Khasl language Is included In
a) Munda branch of Austro — Asiatic sub family
on-khymer branch of Austro — Asiatic sub family
c) North Assam branch of Sino-Tibetan family
d) Assam — Myanmari branch of Sino-Tibetan family
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* Which one among the following passes link Lhasa
with Ladakh?

&) Lanakla
b) Burzil
c) Babusar

d) Khyber
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» According to the latest Reserve Bank of India study
on State finances, capital spending Is maximum on

a) Rural development
b) Water supply and sanitation

799/ Urban development

d) Education




 According to the world Bank’s Doing Business Reporjci()_l,&lg
India’s ranking has improved in 2018 as compared to 2017 in
which of the following areas?

2y~ Paying taxes
b)Resolving insolvency
c) Starting a business
d) Getting electricity
Select the correct answer using the code given below.
a) 1lonly
_byTand2only
¢c) 1,2and3
d) 2,3and4




* The fourteenth finance commission assigned different weights tcl§

the following parameters for distribution of tax proceeds to the
states : -

1.\_Income distanc

2. Population

3. Demographic changes

4. Area

Arrange the aforesaid parameters in descending order in terms of their

weights.
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* The natural rate of unemployment hypothesis was

advocated by
ﬂ)//MgiTtton Friedman

b) A.W.Phillips
c) J. M. Keynes
d) R.G. Lipsey




* The 2+2 Bilateral Dialogue was held in September

201.8 between
/ar)/ External Affairs and Defence Ministers of India with

their US counterparts

b) Finance and Defence Ministers of India with their
Russian counterparts

c) Home and Defence Ministers of India and their
counterparts in Pakistan

d) External Affairs and Defence Ministers of India with
their counterparts in Pakistan.




* Who Is the Chairman of the Defence Planning
Committee set up in April 2018?

a) The Prime Minister

%e National Security Adviser

c) The Defence Minister
d) The Chief of the Army Staff




Thank you for watching



